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General Instructions :

(1)
(i)
(ii1)
(iv)
(v)
(vi)

(vii)
(viii)

I37

All questions are compulsory.
There are total 35 questions in this question paper.
The Question paper is divided into three sections — A, B and C.

Section A has Questions No. 1 to 18 Objective Type Questions and are of
1 mark each. Questions No. 15 to 18 are case study-based questions.

Section B has Questions No. 19 to 25 of 2 marks each and Questions
No. 26 to 29 are of 3 marks each.

Section C has Questions No. 30 to 33 of 4 marks each and Questions
No. 34 and 35 are of 5 marks each.

Internal choice is given in some questions.

Support your answer with suitable examples, wherever required.

SECTION A
(Objective Type Questions)

Hands should be thoroughly washed for to maintain
personal hygiene.

(A) 10 seconds (B) 15 seconds

(C) 25 seconds (D) 20 seconds

The stiffening agent used for finishing silk fabrics is

Give an example of exploratory play for a 3 — 5-year-old child.

Choose the incorrect pair of stain and its type.
(A)  Animal - Oil

(B) Plant — Curry

(C)  Mineral — Rust

(D) Dye — Paint
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5. When two activities are grouped together and scheduled together to

save time and energy, it is called . 1
(A) Fatigue (B) Time Plan
(C) Labour saving (D) Dovetailing
6. Why clothes should not be stored in moist conditions ? 1
7. What is endomorphic body type in children ? 1
8. Match List-I with List-II : 1
List-1 List-I1
(Stain) (Stain Removal Agent)
1. Oil (i)  Grease solvent
2. Paint (i1) Alkaline reagent
3. Perspiration (iii) Acidic reagent
4. Rust (iv) Grease absorbent

Choose the correct option from the following :

(A 1-(G1), 2-(iii), 3-(1), 4-(iv) B) 1-Gv), 2-(3), 3-(i1), 4-(iii)
(C)  1-Gii), 2-(31), 3-(iv), 4-(i) (D) 1-(Gv), 2-(1), 3-(iii), 4-(i1)
9. Match List-I with List-II : 1

List-1 List-11
(Food item) (Nutrients)

1. Arhardal (i) Carbohydrate

2.  Leafy vegetables (i1) Protein

3. Millets (iii) Fat

4.  Ghee (iv) Roughage

Choose the correct option from the following :
(A)  1-Gi), 2-(iv), 3-(1), 4-(ii1) (B) 1-Gi), 2-(iii), 3-(iv), 4-(1)
(C)  1-(G), 2-(i), 3-(iv), 4-(iii) (D) 1-Gv), 2-(1), 3-(i1), 4-(iii)
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At which age does a child have a vocabulary of 2000 to 2500 words ?
(A) 2-3years (B) 5 -6 years
(C) 7-8years (D) 9-10years

In which of the following two ways can low cost meals be prepared ?
(i) Cut vegetables evenly

(i1)  Buy seasonal foods

(iii)  Soak dal before cooking

(iv)  Modify leftover food in an appealing manner

Choose the correct option from the following :
(A) (i) and (iv)

(B) () and (iii)

(C) (i1) and (iii)

(D) (@) and (iv)

What is Argemone ? Give two of its harmful effects on human health.

Given below are two statements labelled as Assertion (A) and Reason (R).
Assertion (A) : Hair should be tied and covered to keep hair from falling.
Reason (R): It ensures good hygiene practices.

Select the most appropriate answer from the options given below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

Give one example of misleading information on packaged food products.
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Case Study-Based Questions

Read the passage carefully and answer Questions no. 15 to 18.

Resources can be classified as human and non-human, and include
essential elements like time, money and energy, all of which are limited.
Effective management of these resources means utilizing them wisely to
achieve our goals. For instance, when visiting a friend’s house, whether
you ride a bicycle or walk, you will need both time and energy. By
choosing a shortcut, you can reach your destination faster, thereby
saving both resources. This illustrates the importance of managing time
and energy together to enhance efficiency and productivity in everyday
tasks. Making smart choices helps us maximize our limited resources.

Which of the following is not an important factor for making a time
plan ?

(A)
(B)
(®))
(D)

Use of labour saving devices
Peak load consideration
Posture while sweeping the floor

Sequence of activities

Match List-I with List-I1 :

List-1 List-11
(Factor) (Example)

Sequence of activities (i) Activities in the morning before
going to work

Peak load (i1)) Boiling macaroni and chopping
vegetables
Dovetailing (iii) Using mixer to make chutney

Use of labour saving (iv) Soaking kidney beans before
devices cooking

Choose the correct option from the following :

(A) 1-Gii), 2-(31), 3-(iv), 4-(1)
(C) 1-(iv), 2-(iii), 3-(ii), 4-(1)

(B) 1-4), 2-(i1), 3-(iv), 4-(iii)
(D) 1-Gv), 2-(1), 3-(i1), 4-(iii)
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Which of the following is not a reason for psychological fatigue ?
(A)  Monotonous work

(B) Low motivation

(C) Too much overload

(D) Too much of interference

Which of the following is not a step of making a time plan ?
(A)  Allocating money for various tasks

(B) Making a master schedule

(C)  Assigning jobs to family members

(D)  Allocating time to each activity

SECTION B
(Short Answer Questions)

What are fine motor skills ? Give two example of fine motor skills
developed in early childhood years among 3 — 5-year-old children.

What kind of clothing should be worn by a food handler ?

Define food safety and mention two ways by which FSSAI ensures safety
of food.

Why do syndets give much better results as compared to soaps ?

What are the factors that you will keep in mind for sorting out of clothes
before washing ?

Mention two points to be kept in mind while storing leftover food.
List four ways in which consumer education helps the consumers.

Discuss any three factors that affect meal planning.
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(a) Maya has a 6-month-old baby boy. 2+1=3

(i) Tell her how play stimulates mental development.

(i1) Suggest two toys for a 6-month-old child.

OR

(b)  State three differences between active and passive play.

Discuss three advantages of preparing a time plan using examples.

Write six methods of faulty weights and measures adopted by the
shopkeepers.
SECTION C

(Long Answer Questions)

Rohit attended the office party and found a stain on his shirt when he
returned home. He kept wondering what stain it was ?

(i) Tell him about the various types of stains.

(i1)  Tell him how to identify the stains.

Mohan was having difficulty in walking. He consulted a doctor.
The doctor suggested it must be due to consumption of adulterated

chana dal. 14+2+1=4

(i) Name the adulterant present in chana dal.
(i1)  Write two symptoms of consumption of adulterated dal.

(iii) Write one responsibility of Mohan with respect to misleading

information.

(a) Mention the social characteristics of adolescents.
OR

(b)  Explain deductive reasoning and abstract thinking among
adolescents.
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Sheela finds ironing of clothes very tiring.
(i) Which type of fatigue is she experiencing while ironing clothes ?
(i1)  Write six possible reasons for the type of fatigue that she is

experiencing.
Rita’s daughter will start going to school soon. Her daughter is a very
bubbly and happy child.

(i) Guide Rita which specific points she should keep in mind while
packing her daughter’s lunch box.

(i1)  Define meal planning.

Discuss the principles of hygienic handling and serving of food in detail
with examples.
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